KEY

Math 110, 112 Practice Quiz # 6 – Sections 3.4 – 3.8
Modeling. Problem Solving, Applications, Linear and Compound Inequalities, Absolute Value Equations and Inequalities

Use algebra to solve the following:

1. You want to save enough money in one year to buy a new computer for $750. What amount must you invest at 4% simple interest so you will have enough to buy the computer after one year?
Round your answer to the nearest dollar.
$721
2. Two trains left the same station at the same time, one traveling East at 60 miles per hour and the other traveling South at 75 miles per hour. To the nearest mile, how far apart will they be after 2 hours?





192 miles
3. Two sailboats are 9.8 miles apart and sailing toward each other. One boat sails 4 miles per hour faster than the other. The two boats pass each other after 0.7 miles. Find the speed of each boat.




5 mph, 9 mph
4. A pharmacist has two cough syrups, one containing 0.5% codeine and the other containing 1.3% codeine. A prescription calls for cough syrup containing 1% codeine. How much of each original cough syrup should be used to produce 8 ounces of the 1% solution?







3 ounces, 5 ounces
5. Two consecutive odd integers have a sum of 28. What are the integers?
13, 15
6. Solve the inequality algebraically. Write the solution in both set builder and interval notation.   3x + 5 < 6 + 2x

{x I x < 1}, 
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7. The length of a rectangle is 5 inches more than its width. If the perimeter can be no more than 50, find the possible widths of the rectangle.
{x I 0 < x < 10} or (0,10]
Solve the inequality algebraically. Write the solution in interval notation.

8. 10 > 4x – 6 > -2

(1, 4)
9. 2x + 5 < 11 and  -3x -4 < 8
(-4, 3)
10. 5x -2 > 8 or 4x + 3 < -5
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{-6, 14}
12. I 2x + 3 I > 7


(-∞, -5) U (2, ∞)
13. I 5x – 3 I < - 4

no solution
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